—REXHZHE

TO18A24W-1_(BHEREEIET) BIsRERIER

[+/\RR_2024/02/29]

=E EHN 12574 fE1E i-E
SRBMRIF29ENSMER - RIBEYRIK - —R | sRERIF29FENSEE - R113FVE
IRE(1)600E(2)1,2008 K - HERBMMEEAZ | /K - —RIEH(1)6008(2)1,2008 0 - H
h2 BREPREEIRZD?

226 BIRE | g AT
():EHFTE = (6005 - 19.88x30 ) x12=38 | (1):EEFE = (6005 - 19.88x30 ) x1/2
(Q):EBFTE = (39.88x30 - 19.88x30 ) x12+ | =38
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= (1,19488 - 5948 )x1/2+ ( 1,20088 - 1,1948 ) | x1/2+ ( 1,200 - 39.88x30 )
=3008& + 38 = (1,1948 - 5948 ) x1/2+ ( 1,200 -
=3038 1,194 )

=300& + 658
=3068
sEANE (RRBEERENAN ) IBFEERBESE | +BEAAS (BRBEERERN ) 13EERD
EERTE ZFENA5,0008 7 - BE NIIEER  BE | EEEHEAFEZFMNRS,0008T - BF T
FRAFZREFS20087T - BEI0SFBEAZ | FIIEH | BERFAIFZREFAS2008
THIFRS3008 7T ~ SRS (BEBRIIE) | v HEISEBAZ T MFTF30087T
FEFAB4008TT - BEZASBFEEZEAF | RS (ZFHRB/IE) FEFF400
BRER/ZV? (A)59 BT B)580.8 BIT | BT - ipaz A B FEZEARFASREE
gipes | (O)546 BT (D)498 BT - ZXMB B/ZDV? (4594 Bt B)580.8 BT
. (C)546 BIT (D)498 BT - EERB
149 | H4E | @RI A
AR AT

SIS = (50,000,000 - 2,000,000 - 3,000,000 )
+3,000,000 = 48,000,000

EARFT1S4E = 48,000,000 + 2,000,000 x 50%
=49,000,000

EAREE = (49,000,000 - 600,000 ) x12%
=5.808,000

SIFRS = (150,000,000 - 2,000,000 -
3,000,000 ) = 45,000,000

EARFT1SEE = ( 45,000,000 + 3,000,000 ) +
2,000,000%1/2 = 49,000,000

EARFREE = (149,000,000 - 600,000 ) x 12%
= 5.808,000
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